ASC| (Asynchronous Serial Communication Interface with baudrate generator)
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[00] (RD) TX REG

D7 D6 D5 D4 D3 D2 D1 DO
[ mx07 | 1X06 | TxD5 TXD4 TXD3 TXD2 TXD1 TXDO
1 1 1 1 1 1 1 1
O@ZET—ALIRA SET—H AT
[00] (WR) RX_REG
D7 D6 D5 D4 D3 D2 D1 DO
[ Rxp7 | Rxp6 | Rxp5 | RXD4 | RXD3 | RXD2 | RXDI | RXDO |
0 0 0 0 0 0 0 0
@7 RLUR% WZAF EHT
[01] (WR) COMMNAD_REG
D7 D6 D5 D4 D3 D2 D1 DO
[ - | RrRs [ - ER_RES - RX_EN - TX_EN
0 0 0 0
Evh4£ HERE
TX_EN e 0: E(E I
RX_EN 1 %13 kA 0: Z(EEIL
ER_RES T —Uty b 0: i B
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[01] (RD) STATUS_REG
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[ crs | - | FRM.ERR | OVRERR - | TXEWP RXRDY -
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[11] (WR) BAUDRATE_REG
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D7 D6 D5 D4 D3 D2 D1 DO

[ BR7 | BR6 | BRS BR4 | BR3 | BR2 | BRI BRO

0 0 0 0 0 0 0 0
EEEOEHAZE n =CLK / (Baudrate x 32)




